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Instructions for the candidates :
1. QOIS JErEye 397 Sl H 81 IR
Candidates are required to give their answers in their own words as far as

practicable.
0. gIfeA #HR EIfvTd W 74 g0 37 QUi IS @ &
Figures in the right hand margin indicate full marks.

3. WWE#W?’Z#%?}??WWW ﬁJSWW&ﬁﬁ?ﬁW%ﬂT'

9T 2 |
;

15 minutes of extra time have been allqtted for the candidates to read the questions

carefully.

4. 7 O 51 @Uel 7 & _W-érqafm-a/

This question paper is divided into two sections — Section-A and
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T ug - A / SECTION - A

Wﬁlm' w3 / Objective Type Questions

o7 @& 18 42W%mm$wwﬁmﬁvw% ﬁl?ﬁ#qafw??l
w#,mgﬁwwa?ﬁmwomvﬁzwﬁﬁwﬁlﬁfﬁasw#mmél

35x1=35

Juestion Nos. 1 to 42 have four options, out of which only one is correct. You have to

nark your selected option, on the OMR-Sheet. Answer any 35 questions. ~ 35 x 1 =35

. WWW@W%

)AJ/ CROREIC x,w-ﬁralé B) YIS / TU-oTTE
C ' .. . . p I | W‘Wé
(C) UY-TTIlg / 3Ueiciih (D)  JUEHH x ——H

Optical path is equal to

(A) refractive index x path-length (B) refractive index / path-length

(C) path-length / refractive index (D)1 refractive index x p&_—é@lg’g_}l
M/ ML?T™! . /(%r/ ML2T 2

©  wmrt MLT2

Dimension of Planck'é constant is

A) 'MLzT"l | - - (B) . ‘MLQT'Q

(C). MLT™ | * (D) MLT ™2
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L T e ik ‘_"".-rl.._ -
- . R -
--LHII-._.,_J = Ll 'L"‘_r T

(A) $hH (B) dsl

(C)  Sgd &H /@1 Sgd SISl
The resistance of Ammeter is

(A)  small (B) large

(C) VEry small (D) very large

| p | |
(C) M = 1+£J (D) M=(1—£]

Which of the relations is correct for the magnifying power of compounc

Imicroscope ?

A M=—f—1;[1+f£-] =) M.—._fg.{n.?.}
D - -

€) M =.[1+—J (D) M= (1__)
fo . T

5, Fﬁ%T g & _
(A)  TTTEE | - - (B ';r?aqraﬁ'q
/'C/) - i e (D) HIWRET

Iron 1s _ . | |

(A) paramagnetic ‘ (B) diamagnetic

(C) ferromagHEﬁc h (D) '.nop_mlagnetic
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A) R gof . /‘Bj/ww
O ek o wead

Which of the following series of hydrogen spectrum is in visible rahge ?
(A) Lyman series | (B) Balmer series

(C)  Paaschen series - (D) 1. Brabkett SETIES

T T AR weeR Wi &

(C)  geFrel ' HRT_W'WWITH (D) uawa?ﬁwwﬁvmm

A hot wire ammeter measures
(A)  average value of alternating current

(B) root mean square value ot alternating current
(C) instantaneous value of alternating current

(D) peak.value of alteméting current
'(A)m‘ﬂﬁ ' - (B) fersam=R o

©) . uRT R o ey vt
EleCtron-irolt is a unit of ) '

(A)  charge (B) potential difference

(C)1 - current (D) energy
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o e ) o e ) e T 8
(A) OR .‘ (B) NOR

(C) NAND _ /({'J)/ AND

The symbol :L____)— represents which gate ?

(A).  OR _ ~~ (B) NOR

(C)  NAND (D) AND
10. %59 o fogmr e & .

P

C—

C) A7l7T . (D) AT?

C)  HE-3Y = 1-6931 x FA Y BT -3 = 0-6931 x S
Which of the relations is correct for radioactive atom ?

(A)  Half-life = Average life (B) Half-life = 2 .x Average life

(C) Half-life = 1-:6931 X Average life (D) Half-life = 06931 x Average life
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d X '
€  B=—F% . (D) B=d.DA\

Width of interference fringe is

a_. DA . d
A b= B)  B=%7
(C) B‘=d—; (D) B=d.DA

AR GUTRS I GUTEh W%ﬁaﬂimtr%wéiaﬂé?ﬁwwm%
(A) A | /LB’)/ lué
c 1c- (D) 3

Sum of charges on collecting plate and condensing plate of a charged

capacitor 1s

(A) ZeTro o (B) 1 nC

c 1C ' (D) -infinite
gy HEAT 25 T [F3THRT &Il &

(A)  (1100), | - (B)  (1001),

)  (11001), ' (D)  (11101),

Binary of decimal number 25 1s

(A)  (1100), - (B)  (1001),

)z{ (11001)'2' o (D) (11'101)2
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2 . iV . RPIRNY wildakaiiti s I L A sititint SUtE W—
y LviTnRERER RS ot haba al S E R e ks Rl ik Rl iR i b i e el L

5. FEt m g & v AT Q RER S0 T AR g 8

-

' h
} mV . L
A ~ ' /B’/ mV

C) A=h.mV - D =T

Wavelength of a particle of mass m moving with velocity Vs

__h_
A A=T" B r=7v
© A=hmv D) A =.-’;l;

A 1 | B 15

/K’f 242 . D) 414

- The refractive index of .dimond is about
a 1 ‘ B 15
. (C) - 242 ' - D) 4-14
17. 16{’1?{3?@?31?”% | - R
' /e.ec( 1J ' ‘ . (B) 19c!
. (C) 1 CII - _ - (D) 1JC
1 volt 1s equal to
A 1J _ - B 1 s
c) 1 CI : ‘ L D) 1JC
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(A)  TiZH . (B) WeH
)QI/W _ (D A

B-rays are fast’'moving

(A)  photons N (B) . protons

(C) electrons - (D) - neutrons

9. Wwﬁﬁqﬁﬁmmﬁm‘éﬁw

(C) =|3T SeeTe & ‘ (D) I & S %
'On increasing the length of the tube of compound m{croscope, magnifﬁng
¢ POWET '
' (A) - Increases - .(B) decreases

(C)  does not change | (D) . becomes zero

20. - ] amu SXISX &l @ ' |
: ()’/‘1-6x10'27 kg = . (B) 1.6x102%7 kg g
R C) 1-6x107°! kg - | (D) 1.-6><10"'19 ‘kg

-1 amu is equél to
J(A)‘ 1-6>'210"2r7 ké | (B) 1 1.6x1027 kg

| ' N 19
() 1.6x107°! kg (D) 1-6x107"7 kg
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m
S 6
Loy = ng (B) L= _S-Lg
L, = Lg | (D) L, = 2Lg

The relation between geometrical length | L, ) of a magnet and its magneti

length (L) is

| 5 | | 6
(A) .Lm =€Lg o ' (B) L =-§L
L

22. e, TEF &

(A)  Nm™ B) Fm"!
cy cv! D) F.m

23 ﬁwﬁvﬁ@aﬁﬁ?%qajqaﬁawqﬁ% ?
A) TR T . B B - xR

/@/Wﬁﬁﬁ D) 3R

Which of the following isinot electromagnétic wave ?
(A) light waves o (B) X-rays

(C) sound waves ' " (D) infrared rays
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24. Wmﬂmﬁﬁﬂaﬁﬁwf@ﬁaﬁiﬁﬁw

W fRwwd o wgd
/9’/ gedl ¢ ‘ | , (D) 9B "Il & TR agar @

On going from north pole to equator, the value of angle of dip
(.A) remains constant
(B) INncreases

(C) decreases

(D)  first decreases and then increases
25. T Al X A o (o0 FIeR fohaT a7 oi=g &lar &
. // HeITod ' (B) 3T
(C) - d@eFsR (D)  FHAA-3TA
The lens which is used to remove short sightedness is
-(A) - concave - - (B) convex
- (C) cylindrical (D) plano-convex
26.  WeRIYT I A7 HEH BT € -
A) g d B) wTH
The velocity of light 1s maximg’m In '

A) air ' (B) glass

(C) water (D) vacuum
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L = A BT T

Nature of electromagnetic waves'is
(A)  transverse
- (B) longitudinal
(C)  both transverse and longitudinal

- (D) mechanical

28.  [ehelleme-der (kWh) 95 § . _ |
(C) ST 3ATHUT S D)  forga wwT @
Kilowatt-hour is unit of T
(A) electric power ' | (B)  electric energy
(C)  torque (D)  electric current

29. Wuﬁﬂuwwmﬁmhmmﬁm%

A) 0 - - B) 1

e o

The value of red colour in colour code of carbon resistance is

3

A4 o ‘ B) 1

o 2 . D) 3

[ 1 17 ]F Page 12 of 20



Ay HRT ' By i
C)  IE - o) emf

Which quantity decreases in step-down transformer ?

. (A) Current | | (B)  Voltage
(C)  Power - ' (D)  Frequency
31, L-RUNUY i Ufamer g &
A)  R+oL ' (B) R?+ w?L?

Impedance of L-R circuit is

A) R+olL  © (B)  R*+e%?
(C) /R+(QL . (D) o /R2"—-+L2'(D2

32. g § Mwwwm%ﬂ‘r tans T S BT _
/W/BV/BH _‘ . (B) . By /By

. ‘ . _ 1 B. 2

C) ByBy . (D) (—-‘-’-]

If 6 1s the ahgle of dip at a place, then expression for tan$ is_ |

(A) BV/BH ) : (B) -~ By /By

_ _ . (B, Y

o BB, o (__]
( ) BybBy ‘ | B,
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33. 20 cm WY I AT ITA AT I &7 ST H Bl &

A) 4 _ /By/ 5

(C) 3 . (D) 2
The power of convex lens of focal length 20 cm 1n dioptl-'e 1S
(A) 4 . B) 5
) 3 D) 2

C) g0 . O 56 Fe
. The least stable nucleus is
(A)  2He o | (B) ¢°C
(C) O - (D) 32Fe
35. g HH 9IRal ( € ) ATl WUIRE ol AR %H T g4 W I e IRl

/(m/ 2C _ B) C

1
(©) % _ (D) °C

Two cépacitors each of capacity C are connected in parallel. The equivalent

capacity 1s

A)  2C ' B) C
C D) ==

(&) Y 2C
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36. v -IhYUT i TE BIAT &
(A) o -TRTOL ' B) -
€) e Ty 7 s Rt

&) a-rays B prays

(C) cathode rays (D) X -rays

37.  HAIINeh T G-IcT ITHT Bl &

7 .
A)  2-29x10" kgm= 4@»/2.29“0-7 kg m-

17 '
(C) 2:29x10!" kg m-3 - (D) 2:29x107!" kg m-3

Density of nucleus is about
(A) 2-29x10" kgm3 B) 2:29x1077 kg m-3
(C) 2.29x 10! kg m3 (D) 2-29x107!7 kg m-3

8. wiRest At 3 o - o W 2

N —» e
(A) F=q(E+VxB) - - (B) F=qE+VxB

s A « | 25 -—> -5 5
qE+BxV . /(rB1/F=q(E+BxV)

Which of the expressions is correct for Lorentz force ?

o ¥

B i - -»> o -
(A)  F=q(E+VxB)] B) F=qE+VxB
| - 5> - o > > 5 o5
C) F=qE+BxV (D) - F=q(E+BxV)
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39. Ak d o -V 3cq1Ad &4 9T AM] T2 feha1 4 921 & 7
A) B 2
<) 3 ' D) 4
Atomic number decreases with the emission of « -particles from the nucleus by
A) 1 | (B 2
©) 3 ' D) 4

40. P-IR9 & FgdTerh H i YR 9F &id &

A)  ToTEH - i fom
' (D) HIEH

o) < &

Majority carriers in P-type semiconductor 1s

| (A) electrons (B) - holes
(C) photons (D) protons
41.  FHUTS TH0T gl & |
g T - B M
c) ureE - (D) WigH
Cathode rays are
(A) ' clectrons (B) neutrons
(C)  protons ' (D) -photo-ns
42, Trefertad A fm fen 1 wpes 0L g € 2
(A) e Foied . (B) faqFﬁq forsar
c)  forgge e - o E
Which of the following has unit n;{;):;é ?
(A) Electric flux | (B)  Electric potential
('C) Electric capacity (D)  Electnc held

L
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